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1. Explain to why it is necessary to have frequency coordination among earth stations
themselves and earth station-terrestrial microwave link? Discuss the iques to
achieve them? [16]

2. (a) What is meant by EIRP for a transmitter and G/T for ver'

(b) In a satellite uplink, the transmitter system ha§, afloss dB while the
transmitter antenna has a gain of 55 dB.There 1 heric loss of 2 dB,
a free space loss of 200 dB.The receiving has a gain of 20 dB. The
receiving system has a bandwidth of 3 z and noise temperature of 1000K.
If the desired SNR is 35 dB. Couap

i. The required transmitger

te!

ii. The receiver noise dPower.

If the flux densitygof the satéllite should not exceed -75 dB W/m?, obtain the
trade off pogsi wedh the receiver antenna gain and transmitter power.
Assume n comsfant = -228.6dBW/Hz/K. 848

owing in GPS C\A code accuracy:

iii. GDOP.
(b) Explain how the accuracy in GPS measurement is increased? [8+-8]

4. What is Van Allen Belt? Mention its relation with Satellite Communication. [16]

5. (a) Mention the factors on which the selection of an antenna depends. Which
antenna is suitable for a satellite.

(b) What do you mean by Relaibility, Mean time before failure, Effective failure
rate as applied to a satellite subsystem and components. Explain the signifi-
cance of the bath-tub curve. [84-8]

6. (a) Derive expressions for umbra and penumbra angles and show that the optimum
eclipse duration is about 1 hour and 10 minutes.

(b) Show that the period of revolution of a geostationary satellite is approximately
24 hours. [12+4]

7. Explain the coverage of an equatorial and Inclined orbit of LEO. [16]
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8. (a) Define Multiple access techniques and explain briefly?
(b) Differentiate the multiplexing and multiple access techniques? [10+6]
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. Explain the coverage of an equatorial and Inclined orbit of LEO. [16]

(a) Mention the factors on which the selection of an antefiia efds. Which
antenna is suitable for a satellite.
(b) What do you mean by Relaibility, Mean time Bgfo . Effective failure
nents.

rate as applied to a satellite subsystem an Explain the signifi-
cance of the bath-tub curve. [8+8]

Explain to why it is necessary to h uenCy coordination among earth stations

themselves and earth station-t icrowave link? Discuss the techniques to

achieve them? [16]
bra

a) Derive expressiongifo d penumbra angles and show that the optimum

(a)
eclipse dur is abo hour and 10 minutes.
(b) Show tifat igd of revolution of a geostationary satellite is approximately
24dours. [12+4]
(a)

a) Explain the following in GPS C\A code accuracy:
i. HDOP

ii. VDOP

iii. GDOP.
(b) Explain how the accuracy in GPS measurement is increased? [8+8]
(a) Define Multiple access techniques and explain briefly?
(b) Differentiate the multiplexing and multiple access techniques? [10+6]
(a) What is meant by EIRP for a transmitter and G/T for a receiver?
(b) In a satellite uplink, the transmitter system has a loss of 1 dB while the

transmitter antenna has a gain of 55 dB.There is an atmospheric loss of 2 dB,
a free space loss of 200 dB.The receiving antenna has a gain of 20 dB. The
receiving system has a bandwidth of 36 MHz and noise temperature of 1000K.
If the desired SNR is 35 dB. Compute:

i. The required transmitter power

ii. The receiver noise power.
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If the flux density of the satellite should not exceed -75 dB W/m?, obtain the
trade off possible between the receiver antenna gain and transmitter power.

Assume Boltzman constant = -228.6dBW /Hz /K.

Kk kK ok
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1. (a) Derive expressions for umbra and penumbra angles and show that the optimum
eclipse duration is about 1 hour and 10 minutes.
(b) Show that the period of revolution of a geostationary satellitefis wnately
24 hours. [12+4]
2. (a) Define Multiple access techniques and explain hri
(b) Differentiate the multiplexing and multipl niques? [10+-6]
3. (a) Mention the factors on which the selgctign of an antenna depends. Which
antenna is suitable for a satelli
(b) What do you mean by Relaib alt time before failure, Effective failure
rate as applied to a sa subgystem and components. Explain the signifi-
cance of the bath-g#b*curves [8+8]
4. (a) What is m IRPMor a transmitter and G/T for a receiver?
(b) In a gafell imk, the transmitter system has a loss of 1 dB while the
t mitter antenna has a gain of 55 dB.There is an atmospheric loss of 2 dB,
a pac@loss of 200 dB.The receiving antenna has a gain of 20 dB. The
recefiing system has a bandwidth of 36 MHz and noise temperature of 1000K.
If the desired SNR is 35 dB. Compute:
i. The required transmitter power
ii. The receiver noise power.
If the flux density of the satellite should not exceed -75 dB W/m?, obtain the
trade off possible between the receiver antenna gain and transmitter power.
Assume Boltzman constant = -228.6dBW /Hz/K. [8+8]
5. (a) Explain the following in GPS C\A code accuracy:
i. HDOP
ii. VDOP
iii. GDOP.
(b) Explain how the accuracy in GPS measurement is increased? [8+8]
6. Explain the coverage of an equatorial and Inclined orbit of LEO. [16]
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7. Explain to why it is necessary to have frequency coordination among earth stations
themselves and earth station-terrestrial microwave link? Discuss the techniques to
achieve them? [16]

8. What is Van Allen Belt? Mention its relation with Satellite Communication. [16]
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What is Van Allen Belt? Mention its relation with Satellite Communication. [16]
6]

(a) Define Multiple access techniques and explain briefly?

(b) Differentiate the multiplexing and multiple access technigfties? 0+
(a) Mention the factors on which the selection of aw, agtenn nds. Which
antenna is suitable for a satellite.
(b) What do you mean by Relaibility, Mean t1 e failure, Effective failure

rate as applied to a satellite subsyste d ponents. Explain the signifi-

cance of the bath-tub curve. [8+8]
(a) Derive expressions for umjpfa a e ra angles and show that the optimum
eclipse duration is abotit our and 10 minutes.
(b) Show that the pe vol

24 hours.

Explain & e of*an equatorial and Inclined orbit of LEO. [16]
Explain y 1®is necessary to have frequency coordination among earth stations
themselvegand earth station-terrestrial microwave link? Discuss the techniques to
achieve them? [16]

ion of a geostationary satellite is approximately
[12+4]

(a) What is meant by EIRP for a transmitter and G/T for a receiver?

(b) In a satellite uplink, the transmitter system has a loss of 1 dB while the

transmitter antenna has a gain of 55 dB.There is an atmospheric loss of 2 dB,
a free space loss of 200 dB.The receiving antenna has a gain of 20 dB. The
receiving system has a bandwidth of 36 MHz and noise temperature of 1000K.
If the desired SNR is 35 dB. Compute:

i. The required transmitter power

ii. The receiver noise power.
If the flux density of the satellite should not exceed -75 dB W/m?, obtain the

trade off possible between the receiver antenna gain and transmitter power.
Assume Boltzman constant = -228.6dBW /Hz/K. 848

(a) Explain the following in GPS C\A code accuracy:
i. HDOP
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ii. VDOP
iii. GDOP.

(b) Explain how the accuracy in GPS measurement is increased? [8+8]

KKk ok k
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